

Atsumasa Kondo

Three Alternative Proofs of the Banach Contraction Principle*

Abstract. This study presents three alternative proofs of the Banach contraction principle (BCP). These proofs are derived from proofs of theorems that generalized the BCP, established in the existing studies. By simplifying the proofs of the generalized theorems, the alternative proofs of the BCP are obtained. The author thinks that studying the alternative proofs provided in this article helps students understand the general theorems easily.

1. Introduction

The Banach contraction principle (BCP) is as follows:

THEOREM 1 (BANACH, 1922)

Let X be a complete metric space and let $T : X \rightarrow X$ be an r -contraction, that is, there exists $r \in (0, 1)$ such that

$$d(Tx, Ty) \leq rd(x, y)$$

for all $x, y \in X$. Then, T has a unique fixed point $x^ = Tx^*$ and $\{T^n x\}$ converges to x^* for any $x \in X$.*

For a standard proof of this theorem, refer to Theorem 9.23 in Rudin (Rudin, 1964), for instance.

The BCP is a very useful tool in various fields of mathematics and other applied mathematical sciences. It is applicable to the proof of the inverse function theorem (see Theorem 9.24 in Rudin (1964)). Barcz (2020) used the BCP to approximate the golden number (see also Barcz (2019)). It is also effective to show the existence of the solution to the variational inequality problems (see Section 4

*2020 Mathematics Subject Classification: 47H09, 47H10

Keywords and phrases: Banach contraction principle, contraction mapping, fixed point

in Kondo (2023)). Due to its usefulness, the BCP has been extended to various directions.

The purpose of this article is to provide three alternative proofs of the BCP. The proofs are derived from those of generalized theorems of the BCP. Generalization of the BCP using a φ -contraction is found in Boyd and Wong (1969) and others (Barcz, 1983; Berinde, 2007; Rus, 2001). Referring to Theorem 2.7 in Berinde (2007), the author simplifies the proof and presents the alternative proof 1 presented in the next section (Section 2). Similarly, from a proof in Wardowski (2012), the alternative proof 2 is deduced; (see Section 3). The alternative proof 3 in Section 4 is a by-product from the work of Ćirić (1974). The author thinks that studying these alternative proofs, which are relatively reader-friendly, would help students understand the works with φ -contraction and articles by Wardowski (2012) and Ćirić (1974).

2. Alternative proof 1

This section presents the first alternative proof of the BCP (Theorem 1). The author obtained the proof by simplifying Theorem 2.7 from Berinde (2007). We start with the following lemma:

LEMMA 1 *Let X be a metric space and let $T : X \rightarrow X$ be an r -contraction, where $0 < r < 1$. Let $x \in X$ and $\varepsilon > 0$ that satisfy*

$$d(x, Tx) \leq (1 - r)\varepsilon. \quad (2.1)$$

Then, the ε -ball $B_\varepsilon(x) \equiv \{z \in X : d(x, z) < \varepsilon\}$ around x is T -invariant, that is, $y \in B_\varepsilon(x) \implies Ty \in B_\varepsilon(x)$.

Proof. Let $y \in B_\varepsilon(x)$. We aim to show that $Ty \in B_\varepsilon(x)$. Using conditions (2.1) and $d(x, y) < \varepsilon$, we obtain

$$\begin{aligned} d(x, Ty) &\leq d(x, Tx) + d(Tx, Ty) \\ &\leq (1 - r)\varepsilon + rd(x, y) \\ &< (1 - r)\varepsilon + r\varepsilon = \varepsilon. \end{aligned}$$

This completes the proof. $\square$

Now, we present the first alternative proof of the BCP:

Alternative proof 1. Let $x \in X$ and define $x_n = T^n x$ for all $n \in \mathbb{N} \cup \{0\}$. Note that $x_0 = x$. Observe that $\{x_n\}$ is a Cauchy sequence. Indeed, we have the following:

$$\begin{aligned} d(x_n, x_{n+1}) &= d(Tx_{n-1}, Tx_n) \\ &\leq rd(x_{n-1}, x_n) \leq r^2 d(x_{n-2}, x_{n-1}) \\ &\leq \dots \leq r^n d(x_0, x_1) \rightarrow 0 \text{ as } n \rightarrow \infty. \end{aligned} \quad (2.2)$$

Choose $\varepsilon > 0$ arbitrarily and define $\delta = (1 - r)\varepsilon/2 > 0$. From (2.2), for $\delta > 0$, there exists $n_0 \in \mathbb{N}$ such that

$$d(x_{n_0}, x_{n_0+1}) = d(x_{n_0}, Tx_{n_0}) < \delta = (1 - r)\frac{\varepsilon}{2}.$$

According to Lemma 1, $B_{\frac{\varepsilon}{2}}(x_{n_0})$ is T -invariant. As $x_{n_0} \in B_{\frac{\varepsilon}{2}}(x_{n_0})$, we have that $Tx_{n_0} = x_{n_0+1} \in B_{\frac{\varepsilon}{2}}(x_{n_0})$. Similarly,

$$\{x_{n_0}, x_{n_0+1}, x_{n_0+2}, \dots\} \subset B_{\frac{\varepsilon}{2}}(x_{n_0}).$$

Let $m, n \in \mathbb{N}$ with $m, n \geq n_0$. Then, $x_m, x_n \in B_{\frac{\varepsilon}{2}}(x_{n_0})$ and we obtain

$$\begin{aligned} d(x_m, x_n) &\leq d(x_m, x_{n_0}) + d(x_{n_0}, x_n) \\ &< \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon. \end{aligned}$$

We have demonstrated that

$$\forall \varepsilon > 0, \exists n_0 \in \mathbb{N} \text{ such that } m, n \geq n_0 \implies d(x_m, x_n) < \varepsilon.$$

This indicates that $\{x_n\}$ is a Cauchy sequence, as claimed.

As X is complete, there exists $x^* \in X$ such that $x_n \rightarrow x^*$. We verify that $x^* = Tx^*$. As T is continuous, it follows that

$$Tx^* = T\left(\lim_{n \rightarrow \infty} x_n\right) = \lim_{n \rightarrow \infty} Tx_n = \lim_{n \rightarrow \infty} x_{n+1} = x^*.$$

Therefore, T has a fixed point.

We prove the uniqueness. Suppose that $u = Tu$ and $v = Tv$. It holds that

$$d(u, v) = d(Tu, Tv) \leq rd(u, v).$$

This implies that $(1 - r)d(u, v) \leq 0$. As $0 < r < 1$, we obtain $u = v$. This completes the proof. $\square$

3. Alternative proof 2

In this section, we provide the second alternative proof of the BCP (Theorem 1). Remind the result

$$\sum_{n=1}^{\infty} \frac{1}{n^s} \begin{cases} = \infty & \text{if } s \leq 1; \\ \in \mathbb{R} & \text{if } s > 1; \end{cases} \quad (3.1)$$

from standard calculus (Theorem 3.28 in Rudin (1964)), for instance). Consequently, if $s > 1$, then

$$\sum_{k=n}^{\infty} \frac{1}{k^s} = \sum_{k=1}^{\infty} \frac{1}{k^s} - \sum_{k=1}^{n-1} \frac{1}{k^s} \rightarrow 0$$

as $n \rightarrow \infty$.

Alternative proof 2. Choose $x \in X$ arbitrarily and define $x_n = T^n x$ for all $n \in \mathbb{N} \cup \{0\}$. Note that $x_0 = x$. We prove that $\{x_n\}$ is a Cauchy sequence. If $x_n = x_{n+1}$ for some $n \in \mathbb{N} \cup \{0\}$, then it results that $x_{n+2} = Tx_{n+1} = Tx_n = x_{n+1}$. Similarly, it holds that

$$x_n = x_{n+1} = x_{n+2} = x_{n+3} = \cdots,$$

which implies that $\{x_n\}$ is a Cauchy sequence. (Furthermore, x_n is a fixed point of T as $x_n = x_{n+1} = Tx_n$.) Thus, without loss of generality, suppose that $x_n \neq x_{n+1}$ for all $n \in \mathbb{N} \cup \{0\}$. Consequently, it holds that $d(x_n, x_{n+1}) > 0$ and $\log d(x_n, x_{n+1}) (\in \mathbb{R})$ can be considered.

It follows that

$$d(x_n, x_{n+1}) = d(Tx_{n-1}, Tx_n) \leq rd(x_{n-1}, x_n).$$

By taking the logarithm value, we obtain the following:

$$\begin{aligned} \log d(x_n, x_{n+1}) &\leq \log r + \log d(x_{n-1}, x_n) \\ &\leq 2 \log r + \log d(x_{n-2}, x_{n-1}) \\ &\leq \cdots \\ &\leq n \log r + \log d(x_0, x_1). \end{aligned} \tag{3.2}$$

As $0 < r < 1$, it holds that $\log r < 0$. Therefore, the rightmost side diverges to $-\infty$ as n tends to infinity. According to (3.2), we obtain $\log d(x_n, x_{n+1}) \rightarrow -\infty$, equivalently,

$$d(x_n, x_{n+1}) \rightarrow 0. \tag{3.3}$$

The inequality (3.2) also implies that

$$\begin{aligned} \sqrt{d(x_n, x_{n+1})} [\log d(x_n, x_{n+1}) - \log d(x_0, x_1)] \\ \leq \sqrt{d(x_n, x_{n+1})} n \log r < 0. \end{aligned} \tag{3.4}$$

From (3.3), it holds that $\sqrt{d(x_n, x_{n+1})} \log d(x_n, x_{n+1}) \rightarrow 0$. Using the squeeze theorem, we have from (3.4) that $\sqrt{d(x_n, x_{n+1})} n \rightarrow 0$ in the limit as $n \rightarrow \infty$.

As $\sqrt{d(x_n, x_{n+1})} n \rightarrow 0$, there exists $n_0 \in \mathbb{N}$ such that

$$n \geq n_0 \implies \sqrt{d(x_n, x_{n+1})} n < 1.$$

Consequently, for $n \geq n_0$, the following inequality holds true:

$$d(x_n, x_{n+1}) < \frac{1}{n^2}.$$

Let $m, n \in \mathbb{N}$ with $m > n \geq n_0$. According to (3.1), we have

$$\begin{aligned} d(x_n, x_m) &\leq d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + \cdots + d(x_{m-1}, x_m) \\ &\leq \sum_{k=n}^{\infty} \frac{1}{k^2} < \infty. \end{aligned}$$

As $\sum_{k=n}^{\infty} \frac{1}{k^2} \rightarrow 0$ as $n \rightarrow \infty$, we obtain $d(x_n, x_m) \rightarrow 0$ as $m, n \rightarrow \infty$. This indicates that $\{x_n\}$ is a Cauchy sequence. The rest of the proof is same as the corresponding part of the alternative proof 1. $\square$

It is noteworthy that the log-function $F(x) = \log x$ has the following properties:

- (F1) F is strictly increasing;
- (F2) $x \rightarrow 0 \iff F(x) \rightarrow -\infty$;
- (F3) For $s \in (0, 1)$, $x^s F(x) \rightarrow 0$ as $x \rightarrow 0$.

As already mentioned in the Introduction, the second alternative proof is deduced from a proof in Wardowski (2012). Wardowski (2012) called the mapping $F : (0, \infty) \rightarrow \mathbb{R}$ an F -mapping if it satisfies (F1)–(F3), and generalized the BCP using the concept F -mapping. For further extensions, see Wardowski and Dung (2014) and a survey article by Karapinar et al. (2020).

4. Alternative proof 3

To present the third alternative proof of the BCP (Theorem 1), we prepare a notation. Let $x \in X$, $T : X \rightarrow X$, and $n \in \mathbb{N}$. Define

$$M(x, n) = \max \{d(x, Tx), d(x, T^2x), \dots, d(x, T^nx)\} \geq 0.$$

For all $x \in X$ and $n \in \mathbb{N}$, it holds that

- $M(x, n) = d(x, T^kx)$ for some $k \in \{1, \dots, n\}$;
- $d(x, T^kx) \leq M(x, n)$ for all $k \in \{1, \dots, n\}$.

Using these facts, we obtain the following lemma:

LEMMA 2 *Let X be a metric space and let $T : X \rightarrow X$ be an r -contraction, where $0 < r < 1$. Then, it holds that*

$$M(x, n) \leq \frac{1}{1-r} d(x, Tx)$$

for any $x \in X$ and $n \in \mathbb{N}$.

Proof. It follows that

$$\begin{aligned} M(x, n) &= \max \{d(x, Tx), d(x, T^2x), \dots, d(x, T^nx)\} \\ &= d(x, T^kx) \text{ for some } k \in \{1, \dots, n\} \\ &\leq d(x, Tx) + d(Tx, T^kx) \\ &\leq d(x, Tx) + rd(x, T^{k-1}x) \\ &\leq d(x, Tx) + rM(x, n). \end{aligned}$$

This yields $(1-r)M(x, n) \leq d(x, Tx)$. Thus, we obtain the desired result. $\square$

Now, we can establish the third alternative proof of the BCP:

Alternative proof 3. Select $x \in X$ arbitrarily and define $x_n = T^n x$ for all $n \in \mathbb{N} \cup \{0\}$. Note that $x_0 = x$. We demonstrate that $\{x_n\}$ is a Cauchy sequence. Let $m, n \in \mathbb{N}$ with $m > n$. It follows that

$$\begin{aligned} d(x_n, x_m) &= d(x_n, T^{m-n} x_n) \\ &\leq M(x_n, m-n) \end{aligned} \tag{4.1}$$

$$\begin{aligned} &= d(x_n, T^k x_n) \text{ for some } k \in \{1, 2, \dots, m-n\} \\ &= d(Tx_{n-1}, T^{k+1} x_{n-1}) \\ &\leq rd(x_{n-1}, T^k x_{n-1}) \\ &\leq rM(x_{n-1}, m-n). \end{aligned} \tag{4.2}$$

Using (4.1), (4.2), and Lemma 2, we have

$$\begin{aligned} d(x_n, x_m) &\leq M(x_n, m-n) \leq rM(x_{n-1}, m-n) \\ &\leq r^2 M(x_{n-2}, m-n) \leq \dots \leq r^n M(x, m-n) \\ &\leq \frac{r^n}{1-r} d(x, Tx) \rightarrow 0 \end{aligned}$$

as $m, n \rightarrow \infty$. This demonstrates that $\{x_n\}$ is a Cauchy sequence. The rest of the proof is same as the corresponding part of the alternative proof 1. $\square$

The author obtained the above proof by scrutinizing a proof in Ćirić (1974), which may appear challenging due to the general type of contraction mapping it addresses. After studying the alternative proof in this section, one may understand the proof in Ćirić (1974) relatively easily.

Acknowledgements. The author would like to thank the Ryousoi Academic Foundation for financial support and the anonymous reviewers for their efforts.

References

- Banach, S. (1922). Sur les opérations dans les ensembles abstraits et leur applications aux équations intégrales. *Fundamenta Mathematicae*, **3**, pp. 133–181.
- Barcz, E. (1983). Some fixed points theorems for multi-valued mappings. *Demonstratio Mathematica*, **16**(3), pp. 735–744.
- Barcz, E. (2019). On the golden number and Fibonacci type sequences. *Annales Universitatis Paedagogicae Cracoviensis. Studia ad Didacticam Mathematicae Pertinentia*, **11**, pp. 25–35.
- Barcz, E. (2020). Application of Banach contraction principle to approximate the golden number. *Annales Universitatis Paedagogicae Cracoviensis. Studia ad Didacticam Mathematicae Pertinentia*, **12**, pp. 31–38.

- Berinde, V. (2007). *Iterative Approximation of Fixed Points*. Lecture Notes in Mathematics, vol. 1912, 2nd edn. Berlin: Springer.
- Boyd, D. W. & Wong, S. W. (1969). On nonlinear contractions. *Proceedings of the American Mathematical Society*, **20**, pp. 458–464.
- Ćirić, L. B. (1974). A generalization of Banach's contraction principle. *Proceedings of the American Mathematical Society*, **45**(2), pp. 267–273.
- Karapinar, E., Fulga, E., & Agarwal, R. P. (2020). A survey: F-contractions with related fixed point results. *Journal of Fixed Point Theory and Applications*, **22**(3), Article 69.
- Kondo, A. (2023). Strong convergence theorems using three-step mean iteration for Zamfirescu mappings in Banach spaces. *Acta Mathematica Universitatis Comenianae*, **92**(2), pp. 165–178.
- Rudin, W. (1964). *Principles of Mathematical Analysis* (3rd ed.). New York: McGraw-Hill.
- Rus, I. A. (2001). *Generalized contractions and applications*. Cluj-Napoca: Presa Universitară Clujeană.
- Wardowski, D. (2012). Fixed points of a new type of contractive mappings in complete metric spaces. *Fixed Point Theory and Applications*, **2012**, Article 94.
- Wardowski, D. & Dung, N. V. (2014). Fixed points of F-weak contractions on complete metric spaces. *Demonstratio Mathematica*, **47**(1), pp. 146–155.

Atsumasa Kondo
Department of Economics,
Shiga University, Banba
1-1-1, Hikone, Shiga 522-0069, Japan
e-mail: a-kondo@biwako.shiga-u.ac.jp